

$$a_1 + a_1 q^n = r_n \rightarrow a_1(1 + q^n) = r_n, a_1 r + a_1 q^n = r + r \rightarrow a_1 r(1 + q) \quad (2)$$

$$\frac{a_1(1 + q^n)}{a_1 r(1 + q)} = \frac{r_n}{r} \rightarrow \frac{(1 + q^n)(1 - q + q^r)}{r(1 + q)} = \frac{r}{r}$$

$$A = b^r - 2ac \rightarrow 100 - 100r$$

$$100 - 100r + 100q^r = r \rightarrow 100q^r - 100r + 100 = r \rightarrow q = \frac{100 + \sqrt{10000 - 10000r}}{100} \quad \text{or } b^r$$

$$q = r \rightarrow 1, 2, 3, 4, 5, 6, 7, 8, 9, 10$$

$$f_1 + f_r + f_e = 100 \quad f_1 a f r a b e = r r \quad (1)$$

$$\frac{f_r}{r} a f r a b e = r r$$

$$(f_r)^r = r r$$

$$(f_r = r)$$

$$\frac{100}{r} + r + 100r = 100$$

$$100q^r - 100r + 100 = 0 \rightarrow q = \frac{100 \pm \sqrt{10000 - 10000r}}{200} \rightarrow 1, 2, 3, 4, 5, 6, 7, 8, 9, 10$$

$$r = \frac{100}{2} = 50 \rightarrow 50 = \frac{r(r(100 - 1))}{(100 - r)} = 100 - 1 = \sqrt{10000} \quad (1)$$

$$p_{10} = (r a (r x a))^{10} = (r^r a^r)^{10} = r^{10} a^{10}$$

$$a_1 \quad a q \quad a q^r \quad a q^e$$

$$(3)$$

$$a_1 - a = a(r - 1) \quad (1) \quad (2) \quad (3) \quad (4)$$

$$a q^r - a q = a q(r - 1) \quad a q(r - 1) \quad a q^r(r - 1) \quad a q^e(r - 1)$$

$$a q^e - a q^r = a q^r(r - 1) \quad a q^r$$

$$a q^2 - a q^e = a q^e(r - 1) \quad a q^e$$

$$a_1 + a_1 a d + a_1 + r d + \dots + a_1 + (n - 1)d = \frac{n(n - 1)}{2} \rightarrow n a + \frac{n(n - 1)}{2} \quad (10)$$

$$d \rightarrow \frac{n}{2} (r a_1 + (n - 1)d)$$

$$5n = a_1 + a q + a q^2 + \dots + a q^{n-1} \rightarrow 5n = a q + a q^2 + \dots + a q^n \rightarrow 5n = 5n \rightarrow 5n = \frac{a(q^n - 1)}{q - 1}$$

$$(1 - 1) 5n = a q^n - a = a(q^n - 1) \rightarrow 5n = \frac{a(q^n - 1)}{q - 1}$$

$$5n \neq 1 \quad 5n \neq 1$$